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WLDF1TH 148 162 310 147
lnF2TH 234 281 515 231
W W1TH 87 123 210 116
W IWW2TH 507 494 1,001 452
st ET1TH 259 297 556 253
st BT2TH 187 171 358 165
MEET1TH 156 158 314 154
HEET2TH 250 258 508 234
MEET3TH 311 319 630 259
fh =1TH 162 206 368 174
o R2TH 164 207 371 196
FEET1TH 216 281 497 258
FEE2TH 199 219 418 169
£ E1TH 357 397 754 376
£ X2TH 165 186 351 176
£ IX3TH 318 299 617 255
£ X4TH 224 222 446 210
A HE1TH 629 639 1,268 577
A HET2TH 307 338 645 264
X IL1TH 332 304 636 311
X L2TH 340 328 668 340
X IL3TH 409 433 842 405
£ [FE1TH 639 749 1,388 627
£ [F2TH 794 764 1,558 662
%X JE3TH 850 873 1,723 728
% &T1TH 328 318 646 279
x &F2TH 837 822 1,659 693
% &STH 1,014 990 2,004 868
x F4TH 166 169 335 149
% &S5TH 65 63 128 39
= N H 541 530 1,071 463
EXR1TH 717 653 1,370 619
ELXTR2TH 157 162 319 121
= E1TH 573 612 1,185 553
= H2TH 287 248 535 299
m oA B 1,537 1,531 3,068 1,201
N Hi 14,466 14,806 29,272 13,023
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F B E 1,701 1,685 3,386 1,448
T = 91 96 187 70
pid H 103 102 205 63

7] 28 26 54 20
5 R 178 176 354 140
F % R 103 93 196 68
= pu 305 298 603 188
m 2 iR 493 493 986 349
f& =i 174 199 373 144
bp | 273 270 543 206
Z & R 169 144 313 109
N & 647 598 1,245 479
i € A 509 518 1,027 454
e A 494 474 968 371
+t B R 355 345 700 305
£} iR 223 214 437 144
B i 235 241 476 160
B =} 233 235 468 149
7R g 14 14 28 11

d X#MA 123 158 281 168
1N Hi 6,451 6,379 12,830 5,046
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3] 586 580 1,166 442
= i) 668 727 1,395 593
8 iR 121 123 244 84
& fit] 118 117 235 73
1€ 234 229 463 154
F A 414 448 862 277
¥ ¥ H 137 161 298 99
N 5 2,278 2,385 4,663 1,722
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+t 75 E 426 461 887 376
T A E 656 661 1,317 598
= = 1,508 1,468 2,976 1,211
I iR 76 66 142 39

¥ B1TH 123 136 259 108

¥ B2TH 251 264 515 216
7 =t 3,040 3,056 6,096 2,548
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£ A W 569 626 1,195 449
e iR 115 119 234 75
X i 157 133 290 112
1= [R 309 289 598 2392
/N it 1,150 1,167 2,317 868
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TRIR 223 220 443 151
INIRE 82 68 150 58
SEE 536 556 1,092 411
ERL 441 410 851 310
B K 276 271 547 211
% [ 399 389 788 265
IR 48 44 92 35
FFFH 120 123 243 91

I\ B 2,125 2,081 4,206 1,532
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2T AT 312 318 630 247
BIH 396 365 761 299
gz N 173 163 336 135
L5 E 319 289 608 249
I\IE 134 158 292 125
itiE 145 149 294 97
AH 146 166 312 107
-3/8 163 131 294 105
xE 30 23 53 19

I st 1,818 1,762 3,580 1,383
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2 PR T 644 670 1,314 500
XEH 271 298 569 231
R 160 174 334 115
el 217 214 431 154
BARR 296 297 593 200
T£H 567 492 1,059 417

1 =t 2,155 2,145 4,300 1,617
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FEFA 232 237 469 155

AR 168 174 342 117
g i) 89 92 181 65
F1E 54 53 107 37
ANEE 56 50 106 37
RAR 62 57 119 49
AEFX 84 153 237 120
Kb 138 135 273 98
JIIA 67 74 141 65
I B 950 1,025 1,975 736
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BiER 259 266 525 212
AEI 302 208 600 257
EEF 59 61 120 48
JIIE 18 16 34 19
A 82 67 149 58
I B 720 708 1,428 594
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